Given the Bode magnitude diagram, we are interested in the frequency domain transfer function of the system.

Firstly, let’s try to get the straight line approximation of the diagram.

For the low frequency range, it is approximately a straight line.

Let’s look at the small values of the frequency.

When the frequency changes from 1 rad/s to 10 rad/s, that is one decade.

The magnitude changes by 20 dB.

The low frequency range is approximately a straight line with a slope of 20 dB/dec.

We can identify that there must be a zero located at the origin, so we put j ω as one of the factors in the transfer function.

For the high frequency range, we can see it is also approximately a straight line.
The two lines meet at 100 rad/s, so 100 rad/s is one of the corner frequencies of the transfer function.

In other words, at 100 rad/s, the curve goes downward by 20 dB/dec, so there must be a pole at 100 rad/s.

The transfer function is the multiplication of a zero and a pole.
